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(2) 6Xx37—1114+4x111-9%x37+3x%x222—-5%x111=2x111—-111+4x111 -3x 111 4+6x 111 —-5x111
=1114+111+111
=333

(4) 200%3=600(m)
1500 — 600 =900 (m)
3% 1000 +60 = 50 (m/%))
L5, 900-50=18 (%)

(5) 10 % DEIEIK 425g & T5g DK EREE DD TRIEDE L
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3] (1) 3x3x3.14=9x3.14
=28.26 (m?)
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3% 3 ><3.14><%+1><1><3.14><%=9><3.14><—;+1><3.14 xé
_5%3.14
~15.7 (m?)

334 +3X3x3.14+2X2 ><3.14><%=12+9 X3.14+42x 3.14

=12+11x3.14
=12+ 34.54
=46.54 (m?)

2] (1) 10x 10X 314 18=5652 (cm?)

(2) 10X 10%3.14X 20— 5% 5 X 3.14 X 20 = 6280 — 1570
= 4710
5652 — 4710 = 942 (cm?)
(3) 10x10%3.14X 20— 5% 5x 3.14 X 10 = 6280 — 785
=5495
5652 — 5495 = 157 (cm?)
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